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Einzufügen sind: 1, 7, 13, 15, 14, 5

h(x) = x mod 7

0 1 2 3 4 5 6
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Einzufügen sind: 1, 7, 13, 15, 14, 5

h(1) = 1 mod 7 = 1

0 1 2 3 4 5 6
1
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Einzufügen sind: 1, 7, 13, 15, 14, 5

h(7) = 7 mod 7 = 0

0 1 2 3 4 5 6
7 1
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Einzufügen sind: 1, 7, 13, 15, 14, 5

h(13) = 13 mod 7 = 6

0 1 2 3 4 5 6
7 1 13
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Einzufügen sind: 1, 7, 13, 15, 14, 5

h(15) = 15 mod 7 = 1

0 1 2 3 4 5 6
7 1 13

15
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Einzufügen sind: 1, 7, 13, 15, 14, 5

h(14) = 14 mod 7 = 0

0 1 2 3 4 5 6
7 1 13

1514
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Einzufügen sind: 1, 7, 13, 15, 14, 5

h(5) = 5 mod 7 = 5

0 1 2 3 4 5 6
7 1 5 13

1514
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Einzufügen sind: a, k, v, d, y

h(x) = ORD(x) mod 7

0 1 2 3 4 5 6

ORD-Funktion zum Umrechnen eines Characters in eine Zahl:
ORD(a)=1, ORD(b)=2, ORD(c)=3, ..., ORD(y)=25, ORD(z)=26
D.h. ORD(a)=1, ORD(k)=11, ORD(v)=22, ORD(d)=4, ORD(y)=25
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Einzufügen sind: a, k, v, d, y

h(a) = 1 mod 7 = 1

0 1 2 3 4 5 6
a
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Einzufügen sind: a, k, v, d, y

h(k) = 11 mod 7 = 4

0 1 2 3 4 5 6
a k
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Einzufügen sind: a, k, v, d, y

h(v) = 22 mod 7 = 6

0 1 2 3 4 5 6
a k

v
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Einzufügen sind: a, k, v, d, y

h(d) = 4 mod 7 = 4

0 1 2 3 4 5 6
a k

v d
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Einzufügen sind: a, k, v, d, y

h(y) = 25 mod 7 = 4

0 1 2 3 4 5 6
a k

v d

y
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